

A

$$367 + (3600 : 9) =$$

$$(270 + 124) - 300 =$$

$$(999 - 899) - (27 + 59) =$$

$$120 : 2 \cdot 4 =$$

$$7 \cdot (80 : 2) =$$

$$(35 + 7) : (48 : 8) =$$

$$(7 \cdot 6) + (330 \cdot 3) =$$

$$(120 : 2) - (25 \cdot 2) =$$

$$500 \cdot 2 \cdot 7 =$$

$$10 \cdot (148 + 375) =$$

B

$$(7 \cdot 6) + (330 \cdot 3) =$$

$$(999 - 899) - (27 + 59) =$$

$$367 + (3600 : 9) =$$

$$(270 + 124) - 300 =$$

$$10 \cdot (148 + 375) =$$

$$7 \cdot (80 : 2) =$$

$$500 \cdot 2 \cdot 7 =$$

$$120 : 2 \cdot 4 =$$

$$(35 + 7) : (48 : 8) =$$

$$(120 : 2) - (25 \cdot 2) =$$